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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 545 7.5 2.5 15 50.3 100
2 301 16.3 3.9 25 65.1 55.2
3 118 13.9 4.4 25 55.6 21.6
4 126 17.3 4.2 25 69.2 23.1
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Thematic Unit 2 – Geology of Natural Resources 
 


SECTION A 
 
Question 1  
 
(a) (i) 231 × 0.0118 (1)  =  2.725 Mt (1) 
  Accept 2.7-3.0 or 2,700,000 – 3,000,000 tonnes only if units are given 
 
 (ii)   Description 
  large hole / visual impact (1) 
  steep/deep orebody (1) low grade of ore (1)  
  large quantity of waste material (1) quantified (1) 
  unstable waste tips (1) leached metal from waste tips (1) AMD (1) 
  interference with water table (1) pollution/contamination (1) 
 
  Only credit one problem + development 
 
  Explanation 
  bunding/banks built around site (1) shields from view (1)  
  uses waste material/overburden (1) 
  use waste rock as an aggregate (1) 
  vegetate waste tips (1) treat run-off water for contamination (1) 
  seal waste tips to prevent leaching (1) 
  divert water flow (1) filter for particulate waste etc (1) 
 
  Credit other reasonable answers 
 
 
(b) (i) water table/top of bedrock inclined to west (1) 
 
 (ii)   inside the limit of mineralisation (1) 
  values highest above orebody (1) Cu-rich groundwater flows to the surface (1) 
  groundwater flows through fracture zone (1) high secondary permeability (1) 
  warm water from depth dissolves more copper (1) 
 
 (iii)   outside the limit of mineralisation (1) 
  fracture zone is more permeable than the conglomerate (1) 
  groundwater flow in conglomerate has little influence (1) 
  little dilution from groundwater (1) arid environment (1) little groundwater flow (1) 
  copper not as soluble in colder groundwater (1) 
  copper deposited before it reaches location B (1) 
 
(c)  (i) no surface outcrop or landscape feature (1) 
  can’t be found by mapping or remote sensing (1) 
  no density anomaly (1) as ore concentration is low (1)  
  gravity survey won’t identify it (1) 
  copper is not magnetic (1) magnetic survey can’t detect it (1) 
  orebody is narrow (1) unlikely to find it just by drilling (1) 
  not used for initial prospecting (1) 
  desert environment (1) no vegetation to sample (1) 
  water passes through the orebody (1) Cu soluble in (warm) water (1) 
  water rises to surface (1) easy to sample across an area (1) 
  


44












Sticky Note

Confusion about calculating a percentage. A simple check on the answer would help.



Sticky Note

The student needs to consider the permeability of the rocks.







Sticky Note

The student has discussed geophysical techniques but needs more breadth or depth.
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(1215-02)


SECTION A


1.	 Figure 1a is a map of the Spence Copper Deposit in the Nevada desert, U.S.A., showing the 
concentration of copper (Cu) taken from groundwater samples in parts per billion (ppb). Figure 1b 
shows a model of the Spence Deposit along the line of cross-section shown on Figure 1a.
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Figure 1a


Figure 1b
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Examiner


only
	 (a)	 The Spence Deposit has been estimated to have recoverable reserves of 231 million 


tonnes (Mt) of sulphide copper (Cu) ore at an average concentration of 1.18 % Cu.


	 (i)	 Calculate the maximum amount of recoverable copper (Cu) in tonnes (Mt) from this 
deposit. Show your working.	 [2]


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  Mt


	 (ii)	 For one environmental problem that might be caused by the extraction of the 
Spence Deposit:


	 1.	 Describe the problem.


	


	


	 2.	 Suggest a suitable planning control that could be used to limit the adverse 
effects of this problem.	 [4]


	


	


	


	 (b)	 The Spence Deposit was located by geochemical prospecting of groundwater.


		  Refer to Figures 1a and 1b.


	 (i)	 Explain why the groundwater in the conglomerate on Figure 1b flows to the west.
	 [1]


	


	


	 (ii)	 Explain why the copper concentrations in groundwater are anomalously high at 
Location A on Figure 1a.	 [2]


	


	


	


	 (iii)	 Explain the low concentration of copper in groundwater at Location B on Figure 1a, 
despite the groundwater flow in the conglomerate being towards the west.	 [3]
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Examiner
only


	 (c)	 Explain why prospecting techniques other than a geochemical groundwater survey were 
considered to be less effective in locating the Spence Deposit.	 [3]
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SECTION B 
 
Question 2 
 
(a) Describe the geological factors that favour the formation and accumulation of  
 large scale oil and gas reserves. 


 


(b) Evaluate the use of seismic surveying techniques to identify potential traps for  
 hydrocarbons (oil and natural gas).  


[25] 
 
 (a) Source rock – clay/shale organic content 


Reservoir Rock ‒ porosity/permability (sandstones) 
Cap rock – impermeable clay/shale 
Depth – temperature and length of time buried  
Traps ‒ anticline, fault, unconformity, salt domes 
 
All factors must occur in correct sequence for economic accumulations of 
hydrocarbons.  
 
Credit reference to examples 


 
 


(b)  Can use technique to search a wide area and can find structures that don’t 
have a surface outcrop/deeply buried on land or at sea. 


 
Can narrow areas for further investigation 
 
Very useful for finding structures that may contain petroleum  
 
However it cannot determine whether hydrocarbons are present in a potential 
trap even if the structure and geological sequence are suitable. 
 
There is a need for further geological investigation to locate oil (drilling & 
downhole logging) 
 
Credit diagrams and examples.   
 
Must evaluate for access to full marks. 
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SECTION B


Answer one question only.


Write your answer in the remaining pages of this booklet.


2.	 (a)	 Describe the geological factors that favour the formation and accumulation of large scale 
oil and gas reserves.


	 (b)	 Evaluate the use of seismic surveying techniques to identify potential traps for hydrocarbons 
(oil and natural gas).


	 [25]
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Question 3 
 


(a)   Describe the formation of coal deposits. 
 


(b)   Evaluate the use of the following techniques in the exploration of mineral/and or 
 energy resources: 


(i) geological mapping 
(ii) remote sensing   


[25] 
 
 (a) Swamps, plant material, hot and wet - maximum vegetation growth. 


Warm - luxuriant growth 
Fresh water - vegetation (indicated by freshwater bivalves), tropical. 
Quiet - material not swept away. 
Stagnant - rotting not complete. 
Sinking - continued deposition. 
Rapid burial, exclude oxygen/anaerobic, minimise rotting. 
Burial raises temperature and pressure conditions. 
Time factor. 
Coalification proceeds from partially decomposing vegetable matter such as 
peat, through coal rank - lignite, bituminous coals to the highest grade of 
anthracite. 
During this process, the percentage of carbon increases, and volatiles and 
moisture are gradually eliminated. 
 


(b) General - The appropriate method depends upon the geometry and physical 
properties of the resource. Evaluation involves advantages and 
disadvantages of technique. Case study examples credited. 


 
  (i) geological mapping 


 
Field work based – direct observation using trained geologists. 
 
Advantages: 
High level of accuracy to pinpoint resources at the surface prior to 
exploitation Can be very detailed – good to assess problems of 
exploitation and viability of resource Samples can be collected for 
accurate analysis 
 
Disadvantages: 
Labour intensive and time consuming Structural trends obscured on 
small scale Accuracy depends upon sample points and interpretation 
Possible problems of access in remote areas and lack of outcrops 


 
  (ii) satellite remote sensing 


 
Radiation is absorbed and reflected in different ways by different 
materials (rocks, soils and vegetation) 
Materials emit different types of radiation depending upon temperature 
and chemistry 
Reflected radiation of several wavelengths (some in visible spectrum), 
and displayed as a visual image. 
Suitable for major metalliferous deposits (e.g. copper, iron) 
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Advantages: 
Provides a large scale image relatively cheaply without need of 
fieldwork Inaccessible areas studied easily Large scale structures 
show up which might be missed in the field. Satellites are generally in 
place – only need to buy image required 
 
Disadvantages: 
Used for only basic reconnaissance. Colours can be misleading 
 
Must evaluate for full marks. 
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Sticky Note

A well-written essay that covers all the main points with substantial evaluation. More detailed discussion of coal maturation would improve it.
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SECTION B


Answer one question only.


Write your answer in the remaining pages of this booklet.


	 	  


	  


	


3.	 (a)	 Describe the formation of coal deposits.


	 (b)	 Evaluate the use of the following techniques in the exploration of mineral and/or energy 
resources.


	 (i)	 Geological mapping
	 (ii)	 Satellite remote sensing	 [25]


	  


	 	


© WJEC CBAC Ltd.





























2 








3 








© WJEC CBAC Ltd. 


 


 
 
 
 


   
 


 
 


 
 


 
 
 
Question 4 
 
“Sedimentary processes can produce metalliferous ores and non-metallic minerals of 
economic value.” 
   


Evaluate this statement with reference to the processes of formation of these resources. 


[25] 
 
 
 Metalliferous ores:  reference to placer deposits (e.g. gold), residual deposits (e.g. 


bauxite) and precipitated (e.g. lithium deposits) weathering (e.g. Malachite & Azurite). 
Processes concentrating metals into economically viable deposits. 
 
Non-metallic minerals:  chemical weathering (china clay), precipitation (barite) and 
clastic processes (sand & gravel) 
 
Credit examples given and discussion of processes 
 
Breadth v depth  
 
Must evaluate the role sedimentary processes play for full marks 
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Sticky Note

This candidate has a good understanding of some sedimentary rocks valuable for their bulk properties. However greater breadth of coverage and some evaluation are needed.
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SECTION B


Answer one question only.


Write your answer in the remaining pages of this booklet.


	 	  


	 	  


	


	 	


	 	  


	 	
	 	 	


4.	 “Sedimentary processes can produce metalliferous ores and non-metallic minerals of economic 
value.”


	 Evaluate this statement with reference to the processes of formation of these resources.	 [25]
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